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(1) 3x- (2x+1)= (2 7(2¢—5x+8)=

____________________________________________________________________________________________________________________________________

(3) (22 +7x—9) (—3x)= @) (=5) - (—24—3C+4x—1)=

2. 3B SHES

(1) (5x—2) (—3x—7)= E(2)(3X—9)(2—X)=

3) (—x2+2) (4+2x)= (4) (38 —9+X) (x—2)=

3. i [Fizas]

1) (x+4)= (2) (3x+2)=
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(2) 27x%+3x

(1) —14x%+(—2x) (3) (15x2—5x+4 )+5x
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(1) (102 —x—2)+(2x—1) (2) (6X2—13x+9 )+(3x—2)

(3) (4x2—5x—7)+(x—3) (4) (2x*—x+1)+(3x—4)
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(1) (6x2+x)+(2x+3) (2) (5x2+6)+(x—3)
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(1) = = (ax+2)(2x+a) FRE® (2 §- FANF (—2x=3) FF
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